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1. 次の関数の極値を求めなさい.

(1) f(x) = x3 − 9x+ 1

答.
f ′(x) = 3x2 − 9 = 3(x+

√
3)(x−

√
3),

f ′′(x) = 6x

であるから,

f ′(x) = 0 ⇐⇒ x = ±
√
3

であり, x = −
√
3 のときは f ′′(−

√
3) = −6

√
3 < 0 より極

大 f(−
√
3) = 6

√
3 + 1 となり, x =

√
3 のときは f ′′(

√
3) =

6
√
3 > 0 より極小 f(

√
3) = −6

√
3 + 1 となる.

(2) f(x) =
2x2 + 1

x

答. f(x) = 2x+
1

x
なので,

f ′(x) = 2−
1

x2
=

2x2 − 1

x2
=

2

x2

(
x+

1
√
2

)(
x−

1
√
2

)
,

f ′′(x) =
2

x3

であるから,

f ′(x) = 0 ⇐⇒ x = ±
1
√
2

であり, x = −
1
√
2
のときは f ′′

(
−

1
√
2

)
< 0 より極大

f

(
−

1
√
2

)
= −2

√
2となり, x =

1
√
2
のときは f ′′

(
1
√
2

)
> 0

より極小 f

(
1
√
2

)
= 2

√
2 となる.

2. 次の関数の凸凹を調べなさい.

(1) y = −3x2

答.
y′′ =

(
−3x2

)′′
= (−6x)′ = −6 < 0

より, 関数は上に凸.

(2) y =
√
x

答.

y′′ =
(√

x
)′′

=

x

1

2

′′

=

1

2
x
−
1

2

′

= −
1

4
x
−
3

2 < 0

より, 関数は上に凸.


